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1979 — - nineteen seventy-nine or nineteen hundred] and[]
seventy-nine] 2000000000000 1023« -oneo
two threel] 1227 — - one double twol or two twol] sevenl] 4.25
— — four dollarstJ and ] twenty-fiveld centst] [ I 30 0O O O O
DO0O0000000 13.91 « - thirteen decimall] pointL] nine
oneld 0.23=nought demical two threed 40 0 0O 00O OO 2
3=5 Two plus three isl] equalsl] isequal tol] five. 5-3=2 Five minus
three is equal to two. 3x 2=6 Three times two is six.or Three by two
are six. 9+ 3=3 Nine divided by three makes three. [0 [J J [0 [ 2010
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